(1) = & 3 el 3%

B - T A R &

A 24 I_B

FlR o+ B=90° ST G 5T

. BC
Sing = — = COS,B
AB
AC .
cosa ==—=sinf
AB

11-1



AL BEROL - koo

<

P(x,y)

> X

(1)90° + 6

~<TOR = ~POQ =0>2 ~POR=90°> #t11 ZQOR =90°+ 6

“RSIOT » +. ~ORS =80

11-2



% L AOPQ 7-AORS

~ROS + ~POQ =90°» @ ~OPQ + ~POQ = 90°
~ ~ROS = ~0PQ

~RSIOT>*® ~ORS=6= ~POQ ~OR=0P=r
~ AOPQ = AORS (ASA)

.'.m:w:x’m:w:y

RS
sin(90°+9)=sina=7=—=c030
0S - ” .
cos(90°+60) =cosa =—=—=—sinf (x% = %'L 5 §)
an(90° + 6) = tana = 1o = X — _ ot
an( )—ana—m—_y— co
(2)180°+ 6
Y
P(x,y)
80°+6 r
s (ol 24!
ao 0 -
X q
R

ZROS=a= ~POQ =0 (478 &)

~<QOR =180°+ 0

11-3



A uEM AOPQ = AORS

S=00=x

RS
Sin(180°+9)=Sina=7=_=_5m9 (y,]zi%;—:‘

m — v
COS(1800+9)=Cosa=7=_=—COSH(xé_:);_:_
tan(180° + 0) =t —Rg__Y_t 0
an( )_an“—m—_x—an
(3)270°+ 0

270°+ 6

@)

ZROT =0

ZPOR =270°+86
A e uERM AOPQ = AORS

OS=PQ=y'RS=0Q=x

11-4



RS —x
sin(270°+9)=sina=7=7=—c059 (yies e %25 §)

0S
cos(270°+60) =cosa = — = Y _ sin 6

ror

RS -
tan(270°+9)=tana=ﬁ=—=—cot9

EANAE PRI s P = 1R
sin(90° + 8) =cos 8
sin(180° + 8) = —sin @
sin(270° + 8) = — cos @
cos(90° + 8) = —sin O
cos(180° + 8) = —cos @
cos(270°+ 6) = sin 6
tan(90° + 8) = — cot @
tan(180° + 6) = tan 6
tan(270° + 6) = — cot O

FIpt > AR KGN E o P B EFZ A S EindE T NIER %R 5 S ,T}u{
PR R ZR ez & S

Npngwme L T ahd oo

¥ 1 %1 ¥ 2 % 53 %" %4 %
sin@ + + - -
cos 6 t - - T
tan t - i ~

11-5



T - g S
(4)0 = 30°

. . V3
sin(90° + 30°) =sin 120° =cos 30° = >

1
sin(180° + 30°) = sin 210° = — sin 30° = —3

sin(270° + 30°) = sin 300° = — cos 30° = —

~| G

(5) 8 =30°

1
c0s(90° + 30°) = cos 120° = — sin 30° = =

cos(180° + 30°) = cos 210° = — cos 30° = —

~| 3

1
cos(270° + 30°) = cos 300° =sin30° = >

(6) 68 =90°

sin(90° 4+ 90°) =sin 180° =c0s90° = 0
sin(180° 4+ 90°) = sin 270° = —sin90° = —1
sin(270° + 90°) = sin 360° = — c0s 90° = 0
(7) 6 =90°

c0s(90° + 90°) = cos 180° = — sin90° = —1
cos(180° 4+ 90°) = cos 270° = — c0s 90° = 0

cos(270° 4+ 90°) = cos 360° =sin90° =1

11-6



AR I I i £ X
(8)90°—6

PQ=y
00 =x
~ROT =0

ZROQ =90°—-0 =«

AP E UFEM AROS = APOQ

R = Q:xam:m:y
. . RS
sm(90°—9)=sma=7=—=cosé?
[
cos(90°—0) =cosa=—===sinb
r X
RS «x
tan(90°—0) =tana ==—=—=cot O
oS vy

11-7



(9)180° -6

3
S
Il
<

S
L.
I

~POR = 180°— 0

et R NPT R
1 o y .
sin(180° — 0) = ~= sin @

x
cos(180° — 9) == —cosO (xte% = %5 f)

tan(180° — 0) = 2 = — tan 6

11-8



(10) 270° -6

PQ=y
00Q =x
~ZQO0R = 180°

TR s kP

x
sin(270° — 0) =sina=7=—0059 (Vs =z %25 §)

cos(270°—0) = cosa = Ty

Il
|
@
S
D
—_
=
F_k
1
I
[N
P
EUTS
~me
\—/

tan(270°—-0) = tana = Y

I
I
o~
Q
S
o)

11-9



(11) 360° -6

360° -4

O

PQ=y>0Q=x> <POR =360°—6

M (iR 1:;3 ok g»g_ﬂq

sin(360° — 0) =7y= —sinf (yt¥w %5 §)

X
cos(360° —0) = — = cos 6

tan(360° —0) = 7}] = —tanb

AP E LA e N IR e

sin(90° — 8) =cos @ cos(90° — 0) = sin 6
sin(180° — 0) =sin 6 cos(180° — 8) = —cos @
sin(270° — 0) = — cos 6 cos(270°— Q) = —sinf
sin(360° — 0) = —sin @ cos(360° — 0) = cos O

11-10



(12)6 = 30°

sin(90° — 30°) =sin 60° =cos 30° = -

1
sin(180° — 30°) =sin 150° =sin 30° = >

sin(270° — 30°) =sin 240° = — cos 30° = —

1
sin(360° — 30°) = sin330° = —sin30° = — =

(13)6 = 30°

1
c0s(90° — 30°) = cos 60° =sin 30° = 3

cos(180° — 30°) = cos 150° = — cos 30° = —

1
cos(270° — 30°) = cos 240° = — sin30° = —

c0s(360° — 30°) = cos 330° =cos 30° = g
AT R F g e 3N FE IR 4o T
sin(90°+ 60) =cos @ -+ -+ (11.1)

sin(90° —60) =cos B -+ - (11.2)

cos(90° +0) = —sin@ -+ - (11.3)

cos(90° — 0) =sinf - -+ (11.4)

11-11

~| %

2

~| 3

2



sin(180°+ 0) = —sinf - --- (11.5)

sin(180° — @) =sin@ - - (11.6)

cos(180°+ 0) = —cos 0 -+ -+ (11.7)

cos(180° —0) = —cos O -+ -+ (11.8)

sin(270°+0) = —cos @ - -+ (11.9)

sin(270°—0) =—cos @ -+ -+ (11.10)

cos(270°+ 0) = sin@ - -+ (11.11)

cos(270°—0) = —sin@ -+ - (11.12)

sin(360° — 0) = —sin@ -+ - (11.13)

cos(360°—0) = cos @ - (11.14)

AT A L E R SRS ARSI R 0 T b R

(14)120°
120° = 90° + 30° = 180° — 60°

(11 1)

. . V3
sin 120° =sin(90° + 30°) =cos 30° = >

195 (11.6)

. . . V3
sin 120° =sin(180° — 60°) =sin 60° = >

11-12



(15) 210°
210° = 180° + 30° = 270° — 60°

1295 (11.5)

1
sin 210° =sin(180° + 30°) = —sin 30° = —3

1295(11.10)

1
sin210° =sin(270° — 60°) = — cos 60° = — >

(16) 300°
300° = 270° + 30° = 360° — 60°

1¥5(11.9)

: . V3
sin 300° =sin(270° + 30°) = — cos 30° = Y
B (11.13)

V3
sin 300° =sin(360° — 60°) = —sin 60° = — -

11-13



